2y
o alzalzz| LIH g
T Mm|loMm|om = = Q
m O« O|<c O = = D .
Q =z Zz|Mm =z|0 B = N
o migmambo © S - O
ur = = wlo 1 M =) No
Q E m % = ! N~ o o 00
nEs|z lazy >N
C|m N 3 —_ .
|2 >~ = o
z S S o
756 [159.92]
6,06
|Mww 139,73
’ 3139,727 139,76 {
—5.45 ] 139,56 _
5,05 | 595
p4p |1M0.08 /
435 wxo.aw ._/
400 1140.12]140,32| 140,42
Dy 140,59 140,49
~2,75 140,16 | 140,201
2,50
0,64 |140,20,
0,00  |140,19 |140,31] 140,60
151 |140,18]
140,42
2,75 140,71
140,61
575 i 140,65/ 140,75
400 7140,21]
5,16
525 (139,81
542 139,807 139,64 y
582 139,64 ;
644 L1014 140,05 /
6.85  1140,164
696 1140, 161
7.38
846 | 140,20]

‘d'd

00°'LSt =

w6/ = dASWN ||
et = doAm [

0011 /00L} 3IP%S
00°£5¢6 Md

=

o T |Uv ol
o N[ N[N
— Mo Mmiodm
m O|<c O|lc O
© z|_z|O=z
r< m|Zm|Xxm
21 =12 wla
& m|{E 3 =
= A IMolx
ZIQ 2|z
7,68 |2 =|m
7,56 |140,23| Z
752 1140,22
-7,38 1140,22 140,26
7,27 | M0.23 139,78
6,60 7140,43] a@«m
—6,54 '
6,14
4,75 | 140,71
—4,00 1140 46
375 ] 140,69 140,79
2,75 140,77
: " 140,87
2,71 110 0,58
0,78 | 140,51
0,62 140,52
0,54 1140,57]
140,63 140,92
0,00 140,51] 1
162 |140,48
140,58
2,75 | 10,77 14087
3,63 _
575 11054 440 69| 140,79
400 140,54
5,00
L0 139,95
59 140,30 139,95
592 g 001 140,30
Mww | 140,44
N_% 140,55
' {140,561
7 ER

7700



